Wich of the following ini;

A%/ Mahatmg Gandhi Natj

Integrateq Rural Dey

ational Food Security Act (NFSA)

atives was launched first to tackle poverty in India?

onal Rural Employment Guarantee Act (MGNREGA)
radhan Mantri Awas Yojana (PMAY)

elopment Programme (IRDP)

g is observed as International Day for Natural Disaster
Reduction?

2. Which among the followin
A) 13" September
B)  13% October
C) 13" November
D) 13® December
3. Which of the following indicators is
attainment within a society?
A)  Life Expectancy
B) LiteracyRate R :
C)  Gross Domestic Product (GDPR)iag s
D) Infant Mortality Rate - AT
4. Which indicator is often used to assess the
-

population?

A)  Gross National Incomﬁ.(GNI)
B)  Unemployment e
C) LifeExpectancy =~ =

D) Population Density
5. Consider the following pairs:
a  Renewable Energy
b.  Carbon Footprint
& Anthropogenic
= Mitigation

€. Greenhouse Effect

N eSboesasal

B) a-1,b2,c4,d-5, 63
O a2,b1,¢3,d4 e.5
D) a-2,b-1,¢-4,d:3, ¢.5

| (Set - D)

primarily used to measure the educational

Qveréﬂ :h’ealfhvst‘a‘-tusi-éﬁdpqualrity of life ofa

The process by which Earth's atmosphere

traps solar radiation, leading to an increase
in surface temperatures.

The total amount of greenhouse gases

- emitted directly or indirectly by human
- .activities ' :

o die
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| - Daturally  replenished,
Which of the pairs given above is/are c"éfrect

Actions taken to reduce or prevent the
emission of greenhouse gases and
minimize the impacts of climate change.

Relating to or resultin g from the influence
of human beings on nature ‘

Energy derived from so

urces that are

. such as sunlight,
wind, and water. : )

ly matched?
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g‘/\\’hich international protocol is specifically designed to prevent, suppress, and punish
trafficking in persons, especially women and children?
A)  The Geneva Conventions
B)  The Palermo Protocol
C)  The Kyoto Protocol
D) TheParis Agreement

7.~ Which approach is most effective for addressing the is issue of beggary from a social work
perspective?
A)  Criminalization of begging _
B)  Providing vocational training and rehabilitation programs
C)  Ignoring beggars to discourage begging
D) Increasing law enforcement presence in urban areas

8.~ Which of the following measures is most effective in reducmg corruptlon w1thm public
institutions? 3 vy
A)  Increasing the number of public holidays Ha
B) Implementing strict transparency and accountability mechamsms
C) Reducing employee wages
D) Limiting public access to mformation :

9.~ Which concept refers to the abuse of entrusted power for private gain?
A) Social justice
B) Humanrights
C) Corruption .
D) Transparency

10 - According to Piaget, at which stage do children develop the ability to think logically
about abstract concepts?
A) Sensorimotor Stage
B) Preoperational Stage
C) Concrete Operational Stage
D) Formal Operational Stage

A1.  What is the primary focus of development during the Sensonmotor stage according to
Piaget's Theory of Cognitive Development?
A) Development of abstract thinking
B) Mastery of logical operations
C)  Acquisition of language _
D) Coordination of sensory experiences with physical actions

12: Which macronutrient is the body's main source of energy?
A)  Proteins

B) Fats
C)  Carbohydrates
D) Vitamins

set-D) Cw



13" ‘Which vitamin is crucial for the absorption of calcium in the body?

A)  VitaminA
B)  Vitamin B12
C) VitaminC
D) VitaminD
M./ Which hormone regulates blood glucose levels by facilitating the uptake of glucose into
cells?
A)  Glucagon
B) Insulin
C) Adrenaline
D) Cortisol

)5. What is the main goal of health promotion?
A)  Cure diseases 0TS
B) Preventdiseases and enhance health
C) Develop new medications
D) Provide emergency care
- ol Iy L.
’1}/ At what minimum internal temperature should poultry be cooked to ensure it is safe to
eat? e i
~A) * 145°F (63°C)
B) 155°F (68°C)
C) 165°F (74°C)
D) 175°F (79°C)

17. Which type of bacteria is most commonly associated with foodborne illness from
undercooked or raw eggs?

A) E.coli

B) Listeria

C) Salmonella

D) Staphylococcus

18/ What is cross-contamination? | _
A)  Using the same cutting board for raw meat and vegetables without wéishing it
B)  Storing cooked food in the refrigerator |
C)  Cooking food to the right temperature
D)  Washing hands before handling food

190 Which of the following is a common symptom of food poisoning?
A) Headache
B) Fever
C) Muscle pain
D) Nauseaand vomiting

(Set-D) o)
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20.~ What is the primary function of phosphorus in the human body

. A) Development of bones and teeth
B) Regulation of pH of body fluids
C) Regulation of muscle contraction
D) None of the Above

211\/W1110h non-governmental organization (NGO) is known for providing medical
assistance in disaster -stricken areas worldwide?
A) Doctors Without Borders
B) World Health Organization (WHO)
C) UNICEF
D) International Red Cross

22. bmmemoration of whose birth anniversary was the Sansad Adarsh Gram
ojana (SAGY) launched?
A)  Sri. Deendhayal Upadhyaya
B)  Sri. Jayaprakash Narayan
C) Sri. Atal Bihari Vajpayee .
D) Mahatma Gandhi ‘ \

‘BA Which of the following is/are objectives of Beti Bachao and Beti Padhao Pfogramme ?
. a) Prevent gender biased sex selective elimination

b)  Ensure survival and protection of girl child FORTY o8

¢) Ensure education of the girl child ' ¢

d) Ensure proper nutrition for girl child

Which of the above given objectives are correctly matched?
A) aanddonly

B) a,bandconly
C) banddonly
P) a,b,candd

24, Choose the correct sequence of the following Central Government Programmes based

on the year of their launch in the chronologlcal order
a)  AtalPension Yojana

b)  Pradhan Mantri Gramin Awass Yojana
¢) Integrated Child Development Services

d)* Mahatma Gandhi National Rural Employment Guarantee Scheme
e) ~ Integrated Rural Deyelopment Programme .

A) ecbad
B) c¢eb.da
0) b,c,e,d,a

D) b’ a, ¢ 6 d

(Set-D) = (6)



25./ What is the main focus of "Atal Pension Yojana" (APY)?

26.

27.

29.

3)./

.C) Workers of organised sector

A) Retired persons from Quasi-government sector
B) Workers of unorganised sector

D) Ex-servicemen

Consider the following pairs:

a.  International Day for the Elderly
b.  World AIDS Day

c. WorldFood Day

d.  HumanRights Day

A) a3, b2, cl, d-4

B) a2, b4 c-3, d-1

C) a-l, b-3, c-4, d-2

D) a3, b4, c2, d-1

10" December
16" October
1%t October

1%t December

calib ol - F i

Which ministry is responsible for the initiative “Maintenance and Welfare of Parents

and Senior Citizens Act, 2001”2

A) Ministry of Social Welfare

B) Ministry of Law and Just1ce

C) . Ministry of Parhamentary Affairs

D) Munstry of Soc1a1 Justice and Empowerment

Which level of healthcare facility is primariiy involved in the implementation of
(Janani Suraksha Yojana) JSY?

A) Primary Health Centres (PHCs)

B) District Hospitals

C) Tertiary Care Centres

D) Private Clinics

Which government programme in India provides free medical treatment to children
suffering from serious illnesses?

A)  Ayushman Bharat

B)  Rashtriya Swasthya Bima Yojana (RSBY)
C) National Health Mission (NHM)

D) ' Rajiv Gandhi Jeevandayee Arogya Yojana

What is the main objective of the Poshan Abhlyan (N ational Nutrition Mlss1on)'7

A)  Toreduce the prevalence of undernutrition and stunting in children
B)  To provide free medical education

](;) To offer employment opportunities to women
) To promote sports activities among adolescents

(Set - i)) ' ,
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31

32.

The ‘Prarambh Summit’ is associated with which of the following?
A) India-UK Free Trade Agreement

B) Startup ecosystem at international level

C) Protection of child rights

D) Cooperation in Quantum Technology applications

Which treaty was signed between Maharaja Gulab Singh and the East India Company,
leading to the acquisition of Jammu & Kashmir? ,

A) Treaty of Lahore
B) Treaty of Shimla
C) Treaty of Panipat
D) Treaty of Amritsar

Monsider the following pairs:

3

Storm :

Meaning
i.  Mango Shower |

a  Pre-Monsoon showers which help in
blossoming of coffee flowers

ii. Blossom Shower b. . Pre-Monsoon showers which helpin
| the ripening of mangoes
iii. Nor Westers _ c. Hot, dry and oppressing winds
blowing in Northern plains
iv. Loo - .- d. Eveningthunderstorms in Bengaland

Which of the above pairs are correcﬂy matched? . -
A) i-a,ii-b,iii-c,iv-d

B) ib,ii-a,iii-d, iv-c

C) i-c,ii-d,iii-a,iv-b

D) i-d,ii-a,iii-b, iv-c

Consider the following statements.

a.  Laterite soils of India are generally red in colour.
b. Theyarerichin nitrogen and potash.

c.  Theyare well-developed in Rajasthan and UP.

d.  Tapioca and cashew nuts grow well on these soils.
Which of the above statements is/are correct?

A) abandc ‘ | &
B) b,candd
C) aandd

D) bandc only

(Set-D) | &



3}./ Arrange the following events in chronological order.
a) Non-Cooperation Movement
b)  QuitIndia Movement
c) DandiMarch
d) Jallianwala Bagh Massacre . o
Which of the following is correct order.

A) a, d, C, b

B) 3 b, a,C, d

C) d,a¢c, b

\ D) d,c, b,a

s ing to thei in ding order.
i ding to their Lok Sabha seats n ascen

| . Arrange the following states accor
1 o a) WestBengal
| b) Maharashtra
| ¢) Bihar

d) TamilNadu

Choose the correct answer.

A) b,ac,d

B) ab,c,d

C) b,a,d,c

D) b,c,d,a

e ". i the nearest inn. -
! /3‘7 . Thetravellerenquired __the farmer ifhe could tell him the way
' A) To,of i

B) Of, of
}( C) Of to
‘ D) To,to

2~ What does the idiom "salt of the earth" mean?
A)  Someone who is wealthy

B)  Someone who is genuine, good, and honest
C) Someone who s always busy

D)  Someone who is mysterious and reserved
39./ In which sentence ig the m
A)  You should take a bre
B)  Youcan take a break

0 You might take g break;
D) You will take a break,

Press necessity?
ak.

A0 Twill definite]

y help John; h
A)  Deserveg ?

Will deserve

Deserve

k.

— it
B)

C)
D) Deserved
(Set - D)
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» 1o gituated in
X «1amboo Zoo’ 18 situa
4,\1/ The north India's largest 200 Jamb . ‘

A)  Udhampur
B)  Srinagar
C) Pahalgam
D) Nagrota

TZ/N ame the Governor General who abolished ‘S‘ati’ in 1829_
A) LordClive : ! :
B) Lord Curzon
C) Lord Bentinck
D) Lord Dalhousie

43. According to Koppen' s classification of climate, Ladakh is

A) Dwd
B) Dfd

C)oCE iy
o pwedl NTTED

WY

44. ~The wettest placé on earth is

A)  Mawsynram
B)  Amazon
C) Antartica

D)  West Bengal

45/ Silk, the natura] form of ﬁber is obtamed from -
A)  Sheep

B) Cocoon
C) - Jute plants
D) Cotton balls




S

46. NandanKananzoo is known for
A) Hippo
B) NilgiriTahr
C) White Tiger
D) Whale

47, Find the proper sequence
P: we must read '
Q: if we want to absorb the fruits of great literature
R: but with concentration
S: them not as we do cricket stories

A) PRQS
B) PRSQ
C) PSQR
D) QPSR

48. Choose the correct synonym of the given word:
Consummation =~ R
A Act of forgiveness
B) Actofdevouring
C) Failure
D) Ultimate completion

49.  Choose the correct antonym of the given word: o
Dissolute :
A) Distant
B) Repuléive
C) Honest
D) Moral

Sﬂonvert the folldWing 0

B g active voice sentence into passive voice -
: writing the noye]? " 15 :

g; II; the gdyel being 4yx‘fri:tten by Sarah? |
: T;d_ the novel being written by Sarah?
| I,)) . W: novel hasE been written by Sarah?
Vag the povel written by Sarah? 0
(Set-p) . | " 3 [PTO



51,

52.

<t

4.

55. The number of students

p—

i ies:
he following gerie

1 ]‘l

10.100.200,310,?
A) 430
B) 420
C) 410
D) 440

he commodity s increased by 50% by what fractiop Mgt ;
the cO

If the price of {0 keep the same expenditure on its Consumptigyy It

i 0as
consumption be reduced s

A) 174
B) 173
C) 12
D) 2/3

The average weight of a group of seven boys is 56 kg. The individual weights

. . illkg)of
six of them are 52, 57, 55, 60, 59 and 55. Find the weight of the seventh boy.
A) 45Kg

B) 54Kg
C) 49 Kg
D) 58Kg

A person sells the car to another person at a loss of 10%. If the second person sht
car for Rs. 54,000 and receives a20% gain;, what's the actual price of the car?
A) Rs. 60,000
B) Rs. 25,000 |
C) Rs. 75,000

D) Rs. 50,000

. . 'sa[e
In 3 classes is in the ratio of 2 : 3 : 4. If 12 Studenﬂtsin
this ratio chan g

inc i \
reased in each class . gesto 8 : 11 : 14. The total number of s
beginning was ‘ gl

the three classes in the
A) 162

B) 108

C 95

D) 54



| -

5(/f A and B together can complete a work in 15 days and Bal
-3Ys, in b
B :.W man
y

days can A alone complete the work?
A 60
B) 45
C) 40
D) 30

57./ Complete the series -
18, 28, 40, 54,70, 7

A 78
B) 88
C) 94
D) 98

}&/C(’)mplete the series.

RAP,MAP,HOT, FUN, ?
A) HNE
B) PGI
C) SIN
D) CAT

59. Inacodelan
guage, BLEND is wri :
same language? is written as ENHPG. How will WINNER be written n the

A) ZKQPHT
B) ZKQPHU
C)  YKQPHT
D) ZKOPHT

ere he walks

' Sottam walks 5
km towards East and reaches Mamata's house. From th
fhis home?

tOWardS NO
rth fo
A I 10 km to reach his gym. Hi
North is gymisin which direction 0

B) West
© North-Eagt

D) North-
(Set -D) et 7
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Which of the following is a renewable source of energy that ;

A)
B)
C)

N Use(
Coal

e .
Oil hlqm
Propane

D) Ethanol

62, 1ildren with pot belly is an indicative of which type of diseag
A)  Goitre
B)  Anaemia
C)  Kwashiorkor
D) Chickenpox

63./ The amount of ajr that moves in and out o

fthe lungs, With each inSpirat'
is called - B andexplr
dtiog

A)  Residual volume
B)  Vital capacity
C)  Tidal volume

D) Tidal capacity

64. The PMGSY was]
A) 2000
B) 2002
C 2003
D) 2004

aunched in the year?

B) Night Blindness
C)  Goitre
D) Rickets

66., Aitamin which is believed to cure th
NI
B) K
o C
D) E

€ common cold

67. Whlch is the most stable ecosystem?

A)  Forest

B) Desert

C) Marine
D) Grasslang

(Set - D) (14)



B)
Q)
D)

S .
mhat is the
3" the 100 nM

) All wwckngh

vhich spl

domimling rang

1300 nm

een 00a and 300 N1

Betw |
gare cqually present

Jere OZoNC layer depletion is found?

Jonospher®
Stratospher®
Lithosphere

Tatosphere

'ﬁt./The {erm vaccine was introduced by

A) Edward Jenmel
B) Robert Koch
C) Louis Peter
D) Von Behring

. wgh

tto property was made a Legal rlght ﬁ'om a Fundamental Right b
y Wthh amon
g the

following amendments to Indian Constitution?

A)
B)

42 nd
44t

C) 45t
D) 77%

72.
ﬁe Preamble of the Indian C

A) 26m

In whicp, ofthe

B)
©)

ety

Tanuary 1950 -

0 Ovember 1949

15t
92 August 1947
December 194

o1 1921
- 1931/

k. U as)

i
bstitution was adopted on:

——— .

ge of light wavelengths in the |y,
; er alm -~
e?

S

fol 0W
Ngonly de
Cade In d
1a's Population had shown negative growth?

[P.T.O.



st census held in India?

¥ 4 g
74, When was fir
G

A) 1869

B) 1872

C) 1871

D) 1885

75, Kesari, a newspaper started by freedom fighter Bal Gangadpg, Til

which language? Wag publiSheqh
A) Bengali

B) Hindi

C) English

D) Marathi

@./Annie Besant was associated with?
A) Khilafat Movemeht _
B) Non-Cooperation Movement
C) Civil Disobedience Movement

D) Home Rule League

7 ].Aat is Gulmarg famously known;a's‘?:- ",' S kit
A) MountainQueen S
B) Meadow of Flowers
C) The crown of Kashmir
D) Gods own country

:IV Who composed the famous song 'Sare Jahan Se Achha'?
A) Jaidev et
B) Bankim Chandra Chatterjee
C) Mohammad Igbal
D) Rabindranath Tagore

79/_ shows how the contents on printed page will appear with margin, header andﬂﬂm
A)  Page Layout .
B) Draft
) . Full screen reading
‘D)  Outline



80. select the current column in MS Excel, we press -
A) Ctrl+ Enter
B) Ctrl+ Spacebar
c) Ctrl+ Shift
D) Shift + Enter

/" Whatisa Firewall in Computer Network?

) A)” A web browsing software
B) The physical boundary of Ne'twqu ‘
Cc) AnOS of computer Network

D) Asystem designed to prevent unauthorized access

o/werPoint view that displays only text (title and bullets) s -

82;/?})
) Outline View

B) NotespageView
C) Slide sorter
D)  Slide show

%ﬁhich PchrPoiﬂt vi_ew 'diSplays each slide of the presentation as a thumbﬁéil énd is

useful for rearranging slides?
A)  Slide Master

B) Slide Show

C) Slide Sorter

/ Notes Page
4. The use of Information Technology (IT) to improve the ability of government to address

the needs of the society is known as
A) E-Business

B) E-Admin

C) E-Governance

D) E-Marketplace

it to governmeIlt

——_ Provides network backbone and e-governance SUPPO

.~ bodies in Indja,
A) NIC
B) NASSCOM
&R | e
D) MITY
(Set - D)
(@7




pyware software?
Jes before the

_1'eﬂdable

y are loaded on the computer

6 WhatiSA“ti'S
) gy Checks

B)
C)

files non
traffic ,
oves programs installed 1llega11y ong

Manages data

m

1t detects and € |
D)’ It mputefg

htem

1s are called

7./InMS Excel, Comments put in c€ s
87.

A) Smart Tip
By SoftTip
C) Web Tip
D) CellTip ) 3

88. Which of the following is an absolute cell reference ?

A) 1Al
B) $ASI
C) #A#l
D) Al

89 Which one best expresses the statement ‘He said, “I must go at once”’ it
- Indirect speech? ‘

i ‘A He said that he has to‘govvat‘ once
B)  Hesaid that he had gone at once
C) Hesaid that he had to 8o atonce
D) Heasked if he had to go at once

90. A sentence is brokep into 4 parts. Identify the part which has an efror

A)  Those two men were |
B)
0))

Quarrelling with one another

Claiming the same watch a5 their own
D) Since morning

(Set-D) ~.(18)



an essential featu
re ofaco
mmunit
y?

.y of the ﬁ)llowing is not
I wncl’opulmion
A ocality

X L foeling
We—iec |
x Smallness in s12¢€

o has eﬂned an inst
1

92.,/‘}&) WG' Sumﬂer
) Gillin
p) R Maclver

:tution as a concept and a structure?

those that are necessary for the survival of
society. Which

) . 1 :nctitutions are
Basic gocial IS . | ssary
?71'/0 i e following is not con51dered as a basic social institution?

A F amily
State
Religion

D) Economy

ments regarding Society are TRUE? |

/ Which of the following state
Its people share a distinct culture.

p It occupies 2 particular territorial area.
c

tis independent.
g Ithasa structure Of inter-related roles.
gelect the correct answer from the options giv
4) aonly
B) ab only
C) ab, and c only
D) Allof the above

en below:

oncepts evolyed over time b the

9%ccording to Foucault, through which two significant¢
domain of Genealogy, introduced “Civilized Society”?
A)  Class conflict and Mode of productions
B) Crimeand Punishment
C) - Discipline and Punish
D) None ofthe Above
s often been Jabeled ‘Formal Sociology 7

96 Which German sociologi
an sociologist' i
4) Georg Simmel gist's social theory ha
B) Herbert Spencer
C) Max Weber

U}Non? ofthe Above

9% Wh

0 among th . .o”
g the following wrote “An Essay on the Principle of Populati*” :

g) MalthuS
) LSMill
- wa N
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101.

(Set - D)

QAsidcr the following statements:

)  Society is a system of social relationships Whil ,
a N

cedures. . Sk .
b) g::ti(ulions are recognized and accepted by sog; ety

) Institutions govern relations between Membeyg
¢ s

nstituﬁ o

S ar |
®ny
leg o |

- whi . Socjet !
d)  Society represents human aspect, while 4y, ms,titlltion%s a
t. : "l gy |
Mxicﬁo(:]fdtllllz following statements is/are Correct: co‘nd"“’“ of |
A) aandb 1
B) a,bandc
C) aandd ‘i
99, ~ Consider the following pairs. '
a. - Sororal polygyny L Marri, 3
/ , Sisters,ge 4 man Wuh Severy|
b Hypergamy . | & » M&rriage ofaman With the chilg] |
| Widow ofhjg 4 b
Anuloma : 3. eCeased brohe,
| ‘ . Caste wedg Women of |,
3 : . 'WET cagt
d  Levirate _ y -4 The Tarriage of daughye, in th
S0 | - Superior or noble family,
Which of the above pairs are correctly matched? ,
A) aandconly_. WSROI 210 0 dayr | o !
B) blanddonly W G IR , -
© acamddonty ¢
D) ab,candd YEE | o
100, Consider the following pairs: ‘ i 1 ) 2
- (Thinkers) . IRENE e bt dai (Classiﬁganon of. groups)
a2 Miller ol baiiliviy besaklan cOrgmunntyAssolfgltwn
b.  Tonnies 2. Vertical C I({)Enzeogate-
C.  Parkand Burgess 3: genit:;al Eli)n-territorial
iddj 4.  Tem b
d GlddlngS 5 Positive- Negatlve
. i ot : ?
Which of the pairs given above is/are correctly matghed |
&) a-,b-30.24.5
B) a.p, b-2,c-3,d-4
C) a-2,b-1,c-4 d-3
D) a-4,b-3¢.54. 1

N
der pay 8%

; : TRYE ibuting to the gen

Which of the following is a commonly cited factor ontribt

A)  Educationa] attainment

B) 0¢cupational segregation

C) Physical strength

) - Marita] status
D) Martalsa i



Y

Jﬂ(-/Identify the correct sequence in stages of development given by F

I

| C) Autonomy vs. Shame and Dou

* Wi e
; -ch theory suggests that socialization occurs

(Set‘ [)) SYChOanalytl' ¢ Theo ry

ider the following pairs:

/Cons _
| /0,2‘ S( Field T {wo:y 1. Geo
*/ gpcial Exchange Theory Biviee I8¢ Homapg
E’ psychosocial Development Theory 3. E urt Le'win
h gocial Conflict Theory 4 “k.Enkson
( orrect answer from the options given be]oy- eWis Cosey

se[hCC
f\f)hooa— : le-3,d-4
ok 1 b-Z,G'S’d'4

e of treatment is often used for OCD?

Cognitive Behavioral Therapy (CBT)

Medication '
Medicationand Cognitive Behavioral Therapy (CBT)
D) Chiropractic Therapy

international convention is specifically dedicated to the elimination of all form
« s

on against women?

Which
al Covenant on Civil and POlitical_ Rights

of discriminati

"A) Internaﬁf’ﬂ
on on the Elimination of All Forms of Discrimination Against Women

B) Conventl
(CEDAW)

) Convention on the Rjghts‘oftvhé. Child
D) International Covenant on Economic, Social and Cultural Ri ghts

/"/‘ Which of the following correctly lists Erik Erikson's first four stages of psychosocial

| F

development in the correct order? |
A)  Trustvs. Mistrust, Autonomy vs. Shame and Doubt, Initiative vs. Guilt, Industry vs.

Inferiority | |
B) Trustvs. Mistrust, Initiative vs. Guilt, Autonomy vs. Shame and Doubt, Industry vs.
Inferiority '

bt, Trust vs. Mistrust, Initiative vs. Guilt, Industry vs.

. Inferiority
Trust vs. Mistrust, Industry vs. Inferiority, Autonomy vs. Shame and Doubt,

D)
Initiative vs. Guilt

reud:

A)  Oral, phallic, anal, latency, genital
B) Oral, latency, phallic, anal, genital
Oral, genital, phallic, latency, anal

D Oralana, phallic, latency, genital
through observational Jearning and

Mitatjon9

Sg;z;liral Functionalism
0 earmning Theo
Confy; 5 i
) polict Theory

[P.T.O-
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)ﬂﬁhich of the following is a common characteristic of GeneraliZQd \ '
o NXiety p)

(GAD)? |

A)  Sudden, unexpected panic attacks .

B) Persistent, excessive worry about various aspects of jf,
C) Flashbacks and nightmares related to a traumatic eveng

D) Avoidance of social situations due to fear of embarraggy, it

iS\:)rdnr

109, Which disorder is characterized by recurrent, unexpected papic ke
~ concern about having more attacks? S followeq by
A) Panic disorder
B) Generalized Anxiety Disorder (GAD)
C) Panic disorder and Social Anxiety Disorder ;:
D) Post-Traumatic Stress Disorder (PTSD) and panic disorder

110. What does OCD stand for?
A) Obsessive-Compulsive Disease
B) Obsessive-Compulsive Disorder -
C) Overactive Compulsive Disorder
D) Obsessive Control Disorder

111. Which theory provides basis for special provision for deprived sections?
A) Pure Theory L A
B) Difference Theory
C) Sovereign Theory
D) [Utilitarian Theory

112. Who was the founder of thé International Corhmi&ée 6f the Red Crbss?
A)  Henry Dunant i

B) F.Lieber

C) Rousseau : B :

D) None ofthe above ' : f
113. Which of the following is a significant challenge hindering women's polite

participation in India? | ,

A)  Legal barriers preventing women from voting

B)  Lack of interest among women in politics }

C)  Gender-based violence and harassment in political SPA¢S

D)

e oy ip roles
Government initiatives promoting women's leadership 10

. h Reﬁléées?
114. Which one of the following statements is NOT CORRECT about the

A)  They are outside their country.

B)  Poverty as reason of being outside the country-
C)  Absence of National protection.
D) Fearof persecution.
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p which model is most commonly used in socj
[ ,qddic

tion issues?

Medical Model

) Harm Reduction Model
strengths-Based Model

psychoanalytic Model
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(16. Guidelines for arrest of persons by the police were give
of the following cases? nb
Maneka Gandhi vs. Union of India
B) Auto Sankar vs. State of Tamil Nadu

C) Hussainara Khatoon vs. State of Bihar
p) D.KBasuvs. State of West Bengal

Y the Sy
Preme Coypy -
Ttin which

_ following Acts does define a 'Child' as a perg
A) Child labour (Prohibition and Regulation) Act onbelow the age of 149
B) Juvenile Justice (Care and Protection) Act '
C) Protection of Children from Sexual Offences Act

D) Prohibition of Child Marriage Act

{17. Which one of the

118. Which international document serves as the primary legal instrument for the t
protection

and promotion of children's rights?

A)  The United Nations Charter

B) The Universal Declaration of Human Rights

C) The Conventionon the Rights of the Child (CRC)

D) The International Covenant on Economic, Social and Cultural Rights

119, Which of the following statements are correct about the National Advisory Council

(NAC)?
a) The National Advisory Council is a statutory body.
b) Itis headed by the Prime Minister of India.
h leaders of civil society.

c¢) It facilitates constant interaction wit
fIndia.

d) Itprovides policy and legislative inputs to the Government 0

Which of the following statements is/are correct?
A) abandc

B) b,candd

C) acandd

D) candd

ich one of the following categories of F undamental

) ouchabiliy?
by pEdtio Religion
O pohttoEquality
D) Ight to Freedom
'8t against Exploitation
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